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1. Introduction

This contribution presents  downlink simulations results for the 5 MHz LTE -> UTRA FDD DL and 10MHz LTE( 10MHz LTE DL coexistence scenarios as defined in [1].

2. Simulation assumptions
The simulation models and assumptions are according to [1], i.e. 2 GHz propagation and a cell range of 500 m has been used, the LTE BS TX power was set to 43 dBm for 5MHz and to 46dBm for 10MHz (assuming all RBs allocated, constant power). Handover margin is 3dB for LTE victim. 
3. Simulation results

3.1
5 MHz LTE ( WCDMA FDD DL

Figure 1 presents the simulation results for the uncoordinated case (worst case):
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Figure 1: UTRA FDD DL capacity loss

The required ACIR is comparable to current UTRA FDD requirements, as expected, since the only difference in the model of the 5MHz LTE aggressor compared to WCDMA aggressor in TS 25.942 is that the WCDMA is loaded to get 95% satisfied users, i.e. there the interfering BSs not necessarily transmit at max power, whereas all subcarrier sets of the LTE aggressor BSs are assumed to always transmit at full power.
From this perspective, the 5 MHz LTE ( WCDMA FDD DL scenario results can serve as a verifaction of the implementation of the LTE aggressor in the simulation.
3.2
10 MHz LTE ( 10 MHz LTE DL
Coordinated (i.e. co-sited) and uncoordinated (worst case) networks have been simulated as well as the intermediate case with an offset between the networks that is half the cell radius, for a range of ACIR values. Note that the ACIR values are calculated as 

ACIR10-10 = PT,10MHz  - ACI10MHz
Where PT,10MHz  is the total transmit power in the 10MHz bandwidth of the aggressing LTE system and ACI10MHz is the adjacent channel interference in the victim 10MHz LTE UE receiver integrated over the entire 10MHz (equation does not account for pathloss). With 24 RBs in the 10MHz, each individual RB sees 14dB lower ACI than the ACI10MHz.
Figure 2 shows the10%, 50% and 90% percentile of the number of bits per RB versus ACIR for coordinated, uncoordinated and half-cell radius offset networks. A RB is 375kHz wide and one subframe of 0.5ms long. 
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Figure 2:Number of bits per RB versus ACIR for the coordinated, uncoordinated and intermediate case
For the intermediate case the results are very close to the uncoordinated case and therefore the intermediate case  is not considered further.
Figure 3 shows the bit throughput degradation in % versus ACIR for coordinated and uncoordinated networks. The degradation in the uncoordinated 10% percentile is most sensitive to the ACIR, as expected, because the low percentiles are determined by the cell edge users, which are most affected by other network interference. 

For the coordinated networks case, the 90% percentile degradation is more sensitive than the 50% and 10% degradation, as expected, because the 90% percentile is determined by the users close to the Node B and these are affected the least by own network intercell interference. Therefore they are most susceptible to other network interference..
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Figure 3: Degradation of number of bits per RB in % versus ACIR for coordinated and uncoordinated networks
For completeness, Figure 4 shows the complete CDF of the number of bits per RB for the uncoordinated case separately for each ACIR value.
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Figure 4: CDF of number of bits per RB  for uncoordinated networks
4. Summary
In this contribution downlink simulations results for the 5 MHz LTE -> UTRA FDD DL and 10MHz LTE( 10MHz LTE DL coexistence scenarios as defined in [1] have been presented.
These results indicate that 5 MHz LTE -> UTRA FDD DL co-existence should not be a concern, as the required ACIR is comparable to current UTRA FDD requirements.
For 10MHz LTE( 10MHz the 10%, 50% and 90% percentile of the per user throughput in terms of the  number of bits per RB for the coordinated and uncoordinated case have been investigated.
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